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27 < 18 = usé6 53 < U2 =_ 2226
2 7 5 3
> 1 8 x 4 2
2 1 6 1 O o6
+ 2 7 + 2 1 2
4 8 6 2 2 2 6
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582 - 6 = Q7 U75000 = 100 = __ 4750
9 7 47 50
6|58 2 1004 7 5000
54 4 00
U 2 75000
u 2 700
s} 5000
5000
o
3.
I can divide U5 by us to get the quotient as 1.
I can multiply 7 by O to get the product o
If I divide 25 by 25, I get O as the remainder.
I multiply 7849 by 1 to get the product 78419,
If I divide 7856 by 1, my quotient will be 7856 .
4.
18 > 100 =< 5 = Q000 7500 = 100 = 15 =5
18 =< 5 = Qo 7500 = 15 = 500
708 < 10 < 2 = 14160 2200 = 10 = 11 = 20
708 < 2 =_ 1416 2200 = 11 =__ 200
QqQ =< 100 < 9 = 89100 27500 = 5 = 11 = 500
QqQ =< 9 =_ 891 27500 = 11 = _2500
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7000 = 10 has the same answer as 70 x< 10.

i. 70 =< 100 ii. 7 = 1000

2000 = 10 has the same answer as20 =< 10.

i. 2 x 1000 i. 20 x 100

There are 20 boxes of
apples. Each box has U2
apples. All the apples are
equally shared among 4
shops. How many apples
does each shop receive?

SOLUTION :- No. of boxes = 20
No. of apples in each box = 42
No. of apples in 20 boxes = 20 x 42
=840
No. of Shops =4
Each shop receives apples =840 + 4
=210

Sub Teacher HOD COORDINATOR

iv. 700 x 10

iv. 200 x 10

PRINCIPAL
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